Inverse Relationships (G)

12 x12=144

x 12 =144

+12=12

+=12=12

11 x12=132

12x =132

~12=11

=11=12

Fill in the blanks

8 x 6 =48 7xX6=42

_ x8=48 6x =42
48 -6 = = 6=17
__+8=6 42+7=__
7x11=77 8x11 =288
11x7=_ 11x8=_
77+ =T 88 +11=__
= T7=11 _ =8=11
5x9=45 11 x11=121
9 x =45 _ x11=121
45+9=_ = 11=11
__+5=9 = 11=11
10x7="170 9x8="72

~ x10=170 . x9=T72
__ =7=10 __ +8=9
_ +10=7 72+9=__
12 x12=144 9x11=99
12x12=__ 11x =99
= 12=12 = 11=9
144 + =12 99 - =11

6 x 10 = 60
_ x6=60
60+ =
60+6=_
12 x 8 =96
§x12=_
96 +8=
96+ =
7x7=49
_ x7=49
49+7=
49~ =
11x7=77
 x11=77
s 7=11
77+11=_
7% 9=63
9x =63
63+9=_
+7=9
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